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R 11.

In the first four papers of 100 marks each, Caroline got 95, 72, 73 and 83 marks. If she wants
an average of greater than or equal to 75 marks and less than 80 marks, find the range of marks

she should score in the fifth paper. Let = be the score in the fifth paper.

% You may use the space below for scratch work. Write only your answer in the answer sheet.
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MRE12.

Find the roots of the quadratic equation z?2— 6z + k= 0 if one root is three times the other,

where k is a constant. Find also the value of k.

¢ You may use the space below for scratch work. Write only your answer in the answer sheet.
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"8 13.

A convex polygon has 44 diagonals. Find the number of its sides.

* You may use the space below for scratch work. Write only your answer in the answer sheet.
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e 14.

/AABC has sides of lengths 3, 4 and 5. P is a point within the triangle for which
Z/APB=_/BPC= Z/CPA. The distances from P to A, B and C are [, m and n, respectively.
Find the value of {* + m? + n’.

% You may use the space below for scratch work. Write only your answer in the answer sheet.
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FIRE15.

How many zeroes are there at the end of 25! ? Note that the exclamation point “ ! ” is used to

designate factorial.

#* You may use the space below for scratch work. Write only your answer in the answer sheet.



